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QUESTION 1

You want to enable automatic PGA memory management in your database. 

Which setting is required to achieve this? 

A. Set MEMORY_TARGET to zero 

B. Set the STATISTICS_LEVEL parameter to BASIC 

C. Set the WORKAREA_SIZE_POLICY parameter to MANUAL 

D. Set the PGA_AGGREGATE_TARGET parameter to nonzero value 

Correct Answer: D 

 

 

QUESTION 2

How can you reverse the effects of an ALTER DISKGROUP ... DROP DISK command if it has already completed? 

A. Issue the ALTER DISKGROUP ... ADD DISK command. 

B. Issue the ALTER DISKGROUP ... UNDROP DISKS command. 

C. Issue the ALTER DISKGROUP ... DROP DISK CANCEL command. 

D. Retrieve the disk from the Recycle Bin after the operation completes. 

Correct Answer: A 

You cannot UNDROP DISKS if the DROP DISK command has already completed. 

 

QUESTION 3

You are managing an Oracle Database 11g instance and an Oracle Database 10g instance on the same machine. Both
instances use the ASM instance as storage. 

Which statement regarding the ASM disk group compatibility attributes are true in this scenario? (Choose all that
apply.) 

A. The database-compatibility version settings for each instance must be greater than or equal to the RDBMS
compatibility of all ASM disk groups used by that database instances. 

B. RDBMS compatibility and the database version determines whether a database instance can mount the ASM disk
group. 

C. The RDBMS compatibility settings for a disk group control the format of data structures for ASM metadata on the
disk. 
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D. ASM compatibility controls which features for the ASM will be enabled. 

Correct Answer: ABD 

 

 

QUESTION 4

Which option is best practice for creating a recovery catalog owner in the catalog database? 

A. Granting UNLIMITED QUOTA on the SYSTEM tablespace to the owner 

B. Allocating the SYSTEM tablespace as the default tablespace and granting the SYSDBA privilege to the user 

C. Creating a new tablespace, allocating this as the default, and granting UNLIMITED QUOTA on this tablespace to the
user 

D. Allocating the SYSAUX tablespace as the default tablespace and granting UNLIMITED QUOTA on this tablespace to
the user 

Correct Answer: C 

To create the recovery catalog schema in the recovery catalog database: 

1.

 Start SQL*Plus and connect with administrator privileges to the database containing the recovery catalog. In this
example, the database is catdb. 

2.

 Create a user and schema for the recovery catalog. For example, you could enter the following SQL statement
(replacing password with a user-defined password): 

CREATE USER rman IDENTIFIED BY password TEMPORARY TABLESPACE temp DEFAULT TABLESPACE tools
QUOTA UNLIMITED ON tools; 

3.

 Grant the RECOVERY_CATALOG_OWNER role to the schema owner. This role provides the user with all privileges
required to maintain and query the recovery catalog. GRANT RECOVERY_CATALOG_OWNER TO rman; 

 

QUESTION 5

You have just performed a FLASHBACK TABLE operation using the following command: 

flashback table employees to scn 123456; 

The employees table has triggers associated with it. 

Which of the following statements is true regarding the state of the triggers during the Flashback Table operation? 

A. All the triggers are disabled. 
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B. All the triggers are enabled by default. 

C. Enabled triggers remain enabled and disabled triggers remain disabled. 

D. Triggers are deleted when a Flashback Table operation is performed. 

Correct Answer: A 

 

 

QUESTION 6

You want to disable resumable space allocation for all sessions. 

Which value should be assigned to the RESUMABLE_TIMEOUT parameter to disable resumable space allocation for all
sessions? 

A. 0 

B. 10 

C. 100 

D. NULL 

Correct Answer: A 

 

 

QUESTION 7

Which two statements regarding a SQL profile are true? (Choose two.) 

A. It is built by Automatic Tuning Optimizer. 

B. It cannot be stored persistently in the data dictionary. 

C. It can be used by the query optimizer automatically. 

D. It can be created manually by using the CREATE PROFILE command. 

Correct Answer: AC 

 

QUESTION 8

Which two are the uses of the ASM metadata backup and restore (AMBR) feature? (Choose two.) 

A. It can be used to back up all data on ASM disks. 

B. It can be used to recover the damaged ASM disk group along with the data. 
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C. It can be used to gather information about a pre-existing ASM disk group with disk paths, disk name, failure groups,
attributes, templates, and alias directory structure. 

D. It can be used to re-create the ASM disk group with its attributes. 

Correct Answer: CD 

 

 

QUESTION 9

You want to take a complete database backup using RMAN. The backup should consist only the used blocks from your
database. 

Which two statements are true about this backup operation? (Choose two.) 

A. Backup compression should be enabled 

B. Parallelism for the channel should be set to 2 

C. All the files must be backed up as backup sets 

D. The backup may be stored either on disk or on media with media manager 

Correct Answer: CD 

 

 

QUESTION 10

Which statement is true when Automatic Workload Repository (AWR) baselines are created using baseline templates? 

A. AWR baselines are always created as repeating baselines. 

B. AWR baselines can be created on the basis of two time values. 

C. AWR baselines are always created with infinite expiration duration. 

D. AWR baselines are always created using the Automatic Workload Repository (AWR) retention period as expiration
duration. 

Correct Answer: B 

 

 

QUESTION 11

Which statement describes the effect of table redefinition on the triggers attached to the table? 

A. All triggers on the table are invalidated and are automatically revalidated with the next DML execution on the table. 
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B. All triggers on the table are invalidated and must be manually recompiled before the next DML execution on the
table. 

C. All triggers on the table remain valid. 

D. Only triggers that are affected by the changes to the structure of the table are invalidated and automatically
revalidated with the next DML execution on the table. 

Correct Answer: A 

 

 

QUESTION 12

You executed the following command: 

RMAN> RECOVER COPY OF DATAFILE \\'/u01/app/oracle/oradata/orcl/users01.dbf\\'; 

Which statement regarding the above command is correct? 

A. The \\'/u01/app/oracle/oradata/orcl/users01.dbf\\' data file is recovered from the image copy. 

B. The \\'/u01/app/oracle/oradata/orcl/users01.dbf\\' data file is recovered from the last incremental backup. 

C. Image copies of the \\'/u01/app/oracle/oradata/orcl/users01.dbf\\' data file are updated with all changes up to
incremental backup SCN. 

D. Image copies of the \\'/u01/app/oracle/oradata/orcl/users01.dbf\\' data file are recovered using the above command if
data file recovery fails. 

Correct Answer: C 

 

 

QUESTION 13

Which of the following supplied functions is used to identify external tables, directories, and BFILES? 

A. DBMS_TDB.CHECK_DIRECTORIES 

B. DBMS_TDB.CHECK_EXTERNAL 

C. DBMS_TDB.CHECK_BFILE 

D. DBMS_TDB.CHECK_EXT 

Correct Answer: B 

 

QUESTION 14

AUM (Automatic UNDO Management) has been retaining about 15 minutes worth of undo. You want to double the
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retention period, but not at the expense of new transactions failing. You decide to alter the system to set the parameter
UNDO_RETENTION=18000. However, AUM still retains only about 15 minutes worth of undo. 

What is the problem? (Choose the best answer.) 

A. You need to alter the undo tablespace to add the RETENTION GUARANTEE setting. 

B. You need to increase the size of the undo tablespace. 

C. The undo tablespace is not set to auto-extend. 

D. You need to alter the Recycle Bin to add the RETENTION GUARANTEE setting. 

Correct Answer: C 

 

 

QUESTION 15

Which dynamic view displays the status of block-change tracking? 

A. V$BLOCK_CHANGE 

B. V$BLOCK_CHANGE_TRACKING 

C. V$BLOCKCHANGE 

D. V$BLOCK_TRACKING 

Correct Answer: B 

V$BLOCK_CHANGE_TRACKING displays the status of block change tracking for the database. 
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